
Question: I want to install windows in a new home. What specs. does the 
window have to meet?

Answer:

• Each window must meet certain criteria with respect to energy conservation 
and wind loading and if the new home is in a 110 mph region and within one 
mile of coastal mean high water then additional wind borne debris 
requirements apply as well. 

• With respect to energy conservation and per IECC 2006**, the window 
must have a U factor that does not exceed .35 BTU/(hr x ft2 x oF) if 

FAQ*: Window Design

must have a U factor that does not exceed .35 BTU/(hr x ft2 x oF) if 
compliance to the code is met by using this table for the entire new home. 
The other approach is to use REScheck which allows some give and take 
between various components of the building envelope.

• With respect to wind loading the DP for the window must be determined. 
All windows that are sold in MA contain a listing of its U-factor and DP. To 
determine the DP for each window in the new home you may use the 
following slides as a guide. 

*Answers to FAQs are opinions of the BBRS Staff and do not reflect official positions or code interpretations of the BBRS
**This change made on 2-3-09 to reflect the new energy requirements.



Window Design Pressure (DP) 

• Step 1: 
Determine 
Wind 
Speed from Speed from 
Figure 
5301.2(4)



Window Design Pressure (cont.)

• Locate the 
Opening in 
the Zones 
shown in shown in 
Figure 
5301.2(8). 
Determine 
the Zone #



• With the:

– Opening Size,

– Wind Speed, and

– Zone #... 

Window Design Pressure (cont.)

For Example:

DP = +20.8 and -22.6* 

psf for 20 sf opening in 

a wall, with wind speed 

110 mph, Exposure B, 
• Determine the DP* 

(+,-)

*This table, 5301.2(2), is based on Exposure B and a 
Mean Roof Height of 30 ft. See next slide for 
Exposure C and other Mean Roof Heights.

For Effective Wind Area either interpolate, or use the 
smaller wind area shown in the table. For example, if 
the Effective Wind Area (which the window 
manufacturer provides for each unit) is 15 sq ft then 
this will round down to 10 sq ft. in the Table. 

110 mph, Exposure B, 

zone 4.
* Take the higher of the two numbers 
and round up to the nearest five, to get 
the DP. In this case 22.6 = DP25



Window Design Pressure (cont.)

• If instead of Exposure 

B, the building is in 

Exposure C, then Use 

Table 5301.2 (3) to 

multiply the DP by the multiply the DP by the 

factor shown in the 

row for the mean roof 

height of the 

building*.     
• *For the example on the previous slide, if the building 

has a mean roof height of 35 ft. and is in Exposure C 
then the factor is 1.45 and the resulting DP is 1.45 x 22.6 
= 32.77 to give DP35.


